atrices Name AY\S\U-Q\'" KC\,){

alculator (not T1-36 PRO) only on questions 1-29.
dentify the order

Scientific ¢

(dimensions) of each of the following matrices.

1. ' .
l: (1) _ZI 2. |1 0 3, 7 ~1 2
‘ 4 3 1 3 1 4}
=2 5 2 7 0
Ly 3
3X - 3% 3
Given matrices A, B, ¢,and D, perform the following operations if possible. If not possible, state the reason.
A= 2 3 3 12 -3 1 -5 1
l i e=| ]
1 -1 B=]-1 1 0 4 D=]11 4
- 2. 3 0
a. 3B _0‘3 5. C—[3 1 -2 \)nAeRMA') hot the
Lé Same Aimensions .
i = -9 15 -\
6. C-D L'D 0 7. D-C 2 _53 IW
o LR L -4 3
Given the following matrices, perform the indicated operation, if possible. If not possible, state the reason.
-3 2 c=[1 3 -3] 1 -1 1
A=11 B=10 D=0 2 0
2 5 2 1 3
-~ -1 -3 [0 2 2 o1
e=[7 3 r=ly o 1 6=[3 -l
| - -4
8. 3G+2E 9. 1
A—=B \
| 2 i
2
10. 4GE © 4 11. DF 3)('3;51)<3 ¥ '(L‘ S‘E:Ct
20 -52| columns & D # Vows oF
Find the determinant of each of the following matrices.
12. [2 5] _ ‘ 13. 1 =2
531 -3 5 &l ©
14, 2 1 0 15. 1 -1 1
3 01 -1 = [0 2 o] As
1 -2 2 2 1 3
. Find the area of the polygon with the given vertices.
16.  A(0,1),B(2,7),€(5,5) 17.  A(1,3),B(=2,6),C(-1,1),D(2,8)
\ wL -2 = v & S _ 4
\\ SC\UL_&TQ \)V\\JI'S : 2 .(a“‘aj‘ ‘/‘%/8,,3”5‘(0 \ 87/ 3-(l5+'5>
IS sq unirg

. ta{g—Z'BﬁLg—H:ﬂ (=6 +1¥6-10)]
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:nd the inverse of each of the following matrices. 5
Find the inve o E\ o K_[; ;

8. [ ]] E *1
2

Find an a, b, ¢, and d that would make the following equation true.
20. 2 1).Ja b)_ [1 0 3 |
[—5 —3] [c d 0 1 -5 -2 |

21. Use inverse matrices to solve the system. Show ALL work, no technology assistance!

3x+2y=14 ( ‘)
—2x +4y=—4 Li) \

Solve the following matrix equations i 3 ) 0 i
22. 6 0 23. -3 2 0 _ — 24.
2X=[8 —2] X; 3 o‘ [1 5 1]+X [0 2 -2 . 3X-—|4|=]2
1 4 \Ll - X = H o\ -2 1 : —1
ol | -3 -3 Xr[ﬂ
Solve the following systems using the stated method. >
Cramer’s Rule SHTeTTTYn Elimination
25. 3x—y=6 26, —3x+4y=28 ) 27. x—y+2z=1
—x+3y=-2 (A,O) x+2y =14 (‘-\,5 x+y+z=28
2x—y+2z=4

O Gu,) g
Substitution (0,-2,1) CREBE= T (3);5\)

—-x+y+2z=2 29, —3x+4y+2z=1
28. 2x+y-—-z=-4% X+2y—z=6
x+2y+3z=2 2x—y+3z=7

You may use a graphing calculator or TI-36Pro on this part of the review (test) only.

Find the inverse of each of the following matrices.

[210J o%:‘; ~ 1 -1 1 3 & -\
30. 13 1 -1 N 3.0 2 0 1
1 -2 2 | =Y [213 °© % ©
-5 1 -z -3\
\
7T 7 =
Solve the system using an inverse matrix.
x+y+z=-1 3x+2y+2z=-1
32. 2X—y+22=—5 ; 33. —'3x+'y—-3Z=0 (—\,0) \)
—X+2y—-z=4 X+2y+z=0 ;
LKIZ0 50 no unique
Soluhion .

*
A problem about enc/decoding will also be included on the test.
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